NOTE: ALL MATERIAL COMPLIANT ROHS STANDARD

204mm

Al

00 ®EeOO0OO0000O0 \\B

460

REVISION INFORMATION

Rev. | Rev. Date | Modified By

Brief Description

858mm

in11g
mm~rnax524m
m .
L—
5 £
5 S
: S
=TS E +15°
3 Elg S
5 E3
o £ -15°
I= uEu
38 E
=
0 S

Package M
M i il
(] e (e ROED ¢ DR
Mdax10 (x4) M4x20 (x4) M5x10 (x4) M5x20 (x4)
M-A M-B M-C M-D
(o (e (R
M6Bx10 (x4) M6x20 (x4 ) MB8x15 (x4) MBx30 (x4)
M-E M-F M-G M-H
e © j 0 ) o
N/ v
washer (x4) 014x06x10 (x4) ©15x08x15 (x4)
M-1 M-J M-K
Package W
P o //_ _\
<o ) = (O)
,)u.é‘..‘/ (;;/
ST6.3X55 lag bolt (x6) concrete anchor (x6) 06.5xe24washer (x6)
W-A b
®
@)
O]
NO. PART NAME SPECIFICATION DESCRIPTION QT'Y |UNIT

= BestLinkNetware

DATE: DESCRIPTION: R " .
DRAWN BY : Flat TV Mount 37"~63" Tilt/Swivel,
2011/12/31 ||LPA13-484 Black
[ cHEckep BY [SHEET 10f 1 |[ITEMNO. 502713BK

| APPROVED BY ||SCALE 11 |[REV. 00

lluniT: mm || - =




	页 1
	LPA13-484.pdf
	Ò³Ãæ  1
	Ò³Ãæ  2

	LPA13-484 manual.pdf
	页 1
	页 2
	页 3
	页 4




